&
.

& Coum doamd DFDBEmEE
DEONGEWMWDD D) PO OTITNS WMODNIDSE DERIDDE
gDy adsmeny - 2010

gm wudmma @ ddn Bems —MCC 1103

DIES : SyrI GeMmA.

ema : 2010.11.07 e : es. £.10.00 - eosd212.00
em1g goece]
1 A emoens gan 2 ©ow B emosns] gddm 2 nod 88nd; eeasin.
2 O emonmd S By ®ICw o mides] H® oms.
3 S S emowd oy eovle 8Fgc; wow con eomld g S
cesim.
4 eI em@ eI CEa).
5 OB woms] o Be e G oy MO Dg .
6 Swd galnoeo wmenm Ce Ced.
A emnoes - ;édm Serd
1 (g) “ 100 BBo giioder] wloy Hunme® gROCHN eCE®E.” @I
YoIms G0 3. Ope Ogesle? GNden Bew OERE noxn.

(enes 10)

(@) () Bdoem oo 9S8 oy ddeCusiend cenden e@imoIg?
(cwpe 04)

(ii) Hgmien ofe @130 oy SdedssFiv ewic) OR8] conm acons]
¢ Odos suim.
0 Poudds 830y .
gdarse A9 9d0e ('ee@«sg, 06)

(g BHdorem o@an 908 ogo <o Sowlded edn Im N0
E@IHOIC? (e 05)



2 (&) “ X" oneiiog oo san Cdedn 9CE® edamen eeHdeo ®sim.

8e I5 120725 130 T40 [45 [s0 [55 |

(ce)

IS 120 | 110 {100 [90 80 70 |60 50

(Henen)
(1) “ X meioed 9de® oga Hosns B30 e oG q’éﬁa’m
) ode® ogwu ed@s PCE® mmis LERe ewede? Budns ocsim,
(iti) @e’g@ Omed &80 oeing s (@pas 09)

(@) @© £31290 Dga Sopl So em B oge 2ed ooy B3e oo ieo)
cone Qews? Ssonm eme smn Se® monis.

(exnes 06)

(ii) Son ¢edn §o8M sae miadned WOEeO deoisles] emeede?

. O B8] eolos wean o Réce] omoe
. Hdeieme ooy can o ® wod BeCT | o wmeon S D]
E3MMDSIE] a1 2@
* B0 Bdmenm ndersimao 218 o] gronm 88D e
. 3IH® Hdsicmn 3@ cem GOms SYBWHH Be gne e
| (enss 10)
3 (a) HOTT DommIS edgese om SmiSemd DO® eDETOC goS B woim
gEeInm® noeda? (cwes 06)

(@) oo edoy essmon POnD Gawen oues mem mmced COELBCHET
e cdosis, !

(e 06)

@) “enedn S80IBosete e SIODS OiF e om wer® emg mSwmS
99; Jm8ms DO® eDEeost G» DOSOMS eogesed Sandem om
OBBIS PUIDDOCO OBeHmE HAHD G0 oW HED cca Sreod "

' j
2R Cow orlesle? Gondes BRI EWM ek Ssim.

(emes 13)




(i

(ii)

(iii)

()

(ii)

00162

B ez19es - BB _c3oaprmcs

59 adsim. I n+1
(n+1) ln-l

2 2\ A
goycisim (a) {9:{%) x(—;—) }

(h) @EZSZ-%(EE 390

N0 eencITIm. a‘h’—ab—2

(eme 25)

son quledn wBmcei Swenln.

2 3 6
Y_* _4
2 6
x  x+1

pucw & 8. X g6 geiesed, U S, 8. [ ot g edmews oos] oo,
Cu @2 oo s 6 8. 8. [ o 89 98 med 2@ 8d @om &eo

o0 ®ed & 1 851 g 0. Bw mes o doa 10 8. 6, | oy Bs1
¢n med @ O ©on em Onom MmES o 3 B oD €. g6 X ¢ edmes
Ue¢ oeansg adudn. (expen 25)

(3) Com dgedn ¢modnien] 2 ¢ vod ge O S 2mend d@eé g ood decl g

e

DD,
gecd g 151175 176-200 201-225 226-250 251-275 276-300 |301-325 |[325-350
wnd Seed
0® owmn
& me6n 2 3 4 g 6 3 2 1
(i) oo culn euios gIdidwds] culonin.
(ii) 00D OMABes ©RBISG e3m @M BT, |
(iii) on® orncIBesd O5mEG to LSO gODOM eeIEsTm.
(iv) ouo (i) & 88 wwine ne eden guoeno 30 BSome ndsin.
(cope 25)

- BPn® ;534 -



THE OPEN UNIVERSITY OF SIR LANKA
CERTIFICATE IN ENTREPRENEURSHIP AND
SMALL BUSINESS MANAGEMENT PROGRAMME
FINAL EXAMINATION — 2010/2011

MCC 1103 — BASIC STATISTICS & ECONOMICS
DURATION : TWO (02) HOURS

Date : 07" November, 2010 Time : 10 a.m. - 12 noon

GENERATL INSTRUCTIONS

1. Answer two (02) questions from PART "A’ and TWO (2) questions from PART ‘B".

2. Itisavailable to spend one hour for each part.

3. Provide answers for each part separately in separate answer books and hand over
them separately.

4. Graph papers will be provided.

- 5. Non programmable calculators are allowed.
6. All questions carry equal marks.

PART A

(1) (a) “The Opportunity Cost is the result of Scarcity of resources” Do you agree ?
Explain with examples. (10 marks)

(b) (i) What are the assumptions, on which the Production Possibility
Curve analysis is based on ?

e R i i

(04 marks)

(ii)  Using Production Possibility Curve analysis, explain the following,

Increasing opportunity cost
Inefficient level of production (06 marks})

(c} What are the factors that shift the Production Possibility Curve outwards ?
(05 marks)



@ @
(b)
G @
®
(c)

Consider the following demand schedule for good “X”,

Price 15 120 125 |30 |40 [45 [50 [55
(Rs.)

Quantity | 120 | 110 | 100 | 90 80 |70 60 |50
(Units)

6] Draw a graph to illustrate the demand curve of good “X”.
(ii)  Does the demand curve confirm the law of demand ? Explain.
(iif)  Calculate the slope of the demand curve. (09 marks)

© What is the difference between shift of the supply curve and movement
along the supply curve ? Explain using illustrations.
(06 marks)

(i)  How will the following situations affect the supply of the relevant

product.
i Government imposes a unit tax on liquor. _
ii. Government provides a subsidy on each kg. of rice
produced.
1. More and more firms enter into diary industry.
iv. Price of ingredients needed to produce ice cream has
gone up. (10 marks)

Compare and Contrast the Perfectly Competitive and Monopolistically
Competitive markets ?

(06 marks)

What type of a market that the firms providing Insurance service operate ?
Provide reasons. (06 marks)

“ Non price competitive methods like product differentiation and advertizing
are important for firms that operate in Monopolistically Competitive and
Oligopolistic markets to compete with each other
Do you agree ? Explain using examples

(13 marks)



PART B

1)y @ Simplify l n+1
(n+1) | n-1

2 2\ A
(ii}  Evaluate (a) {9x(§) X [%J }

(b) log282 + logs 9

(iii)  Factorize a’b®>—ab -2 A (25 marks)

() (@) Solve the following equations

x_y_1
@ 57375
Y_* _5
2 6
3 4
b ———F=2
x  x+1

(i) A bus travelling at a uniform speed of U km/h travels a distance of X km. If 1t
increases its speed by 6 km/h for the whole journey then the time taken will be
reduced by 1 hour. If it decreases its speed by 10 km/h for the whole journey.
then the time taken will be increased by 3 hours. Find the distance X and the

speed U. (25 marks)_f

(3)  The following table shows the amount of rice sold per day in Kg. in a given month. " -
Ricesold | 151-175| 175-200 | 201-225| 226-250 | 261-275 | 276-300 |301-325|326-350
No. of days 2 3 4 9 6 3 2 1

@) Show the above data using a suitable graph.

(i)  Find the median and mode of the above distribution.

(iii)  Find the mean and the standard deviation of the above distribution.
(iv)  Interpret the Standard Deviation you calculated for above (iii) ? i
(25 marks) -
- Copyright reserved - g
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